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1. IE®F FREE (skimming) & JiE (scanning)

W AR R —. BENERRNT TREXHKRE, BT EE L& &
frioise. BREEBESHAARMR EE LRI, —RBRER 1—2 1 HiE, BB LIFKEBR
ZEE  XEERERERMBLICWRE. B, 55 R A B I I s I8, 7
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FRAEH.
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F.REESRER MM EEREI R ER . DT JLAEI AT 7 BRI IR X .
D BRELTXPEBRALFNS —FEE, B8R GE. BT XPEF— LR ER
Bl E Rt — R,
2) BEREFAEXEPIIEE, BIE XM EE 419, 5018 JE 817 AR SR tid2%k. BHE
BREXMAEX T SPREE R A, FREE S bR AT U# T ERAED .
3) HTEFMIR, R R AMWENEE. RiEPREABENINEREEMARN.
HEHRIARIX B 1M 1A] write F1 similar, IRAZRTHR re-FHIS F-ity B8 S0, ARB0 A7 LU HER 3 5%
i rewrite 1 similarity X BN E I E B,
4) BRR—ERREELT O Mt 7 B 3L, 3B 5 AL A BEAR LL AL, 147 RE E o 70
BN .
5) FE4F FRRET BHEM A E A KA.
B2, HEMEN —ERFIER T AERE, REER, FERNLEK, BT —FH RS
GEIN-ACNE Y- pa-g:oltifes:] N

3. RERHXERHESIE

R R RER AR — S RA AT RERXR . LB 54 A A EHE S 7kt E
B XERAEFER R . ¥ AN ERESRA UTILE.

D RrBi X RMIEEAR

also, besides, further, furthermore, even, moreover, in addition, in particular, even more
important %

2) Fn a8 MU R ITEA -

before, now, next, first, finally, at first, at last, then, until, soon, later, after,
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eventually, afterwards, meanwhile, in the meantime 2§,

3) R ZRIRIFHIRIER

beside, between, beyond, from, outside, inside, next to, opposite to 2,

4) RRTXES|HEIFHEER -

such as, i e. , for example, for instance, in fact %,

5 RAHERXRNINES:

because, thus, so, so that, as a result, therefore, consequently, for this (that) reason,
hence, accordingly %,

6) Fn AR X sl T R iaiE A -

like, unlike, similarly, likewise, in the same way, despite, in spite of, on the contrary, by
comparison, in contrast, but, however, although, on the other hand, yet, nevertheless,
conversely, otherwise 4,

7) FRGREBIEE X IEES

to sum up, to conclude, in sum, in conclusion, in short, in brief, on the whole £,

HEHEIEEEUSR TR LENFR.EBRERE L EHERR. XL MEiRER
B TAXT % A 3 DGR E TR AT VR B A R RS A W R B A

4. ERSEFREESERNXER

B B R X R BB RR T LB R M. IREFZHRBEIENE FERA
REREIERER. BF¥EAN NEEENERNEREAEN. FUAERORIESER
e . bR L, BARRE T B W REE PR B AR AT 3275 .

{HiEE KB MBS B AIRE  RIZHR, 5 BHE B TARIE G AL BT AR 5 3 2 )
BIXF . EEFERPRIERETHAR B BURE. S0 B84 PR Bk, R
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ARG SCRRIER] 7 — St TR s R S TE D A R Pl b T SO BUR R, AT RIEMR. 7
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5. BECEER

FERR P B R B AR EENE WAt R A TR AE IR, RERREAENERE. B
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Aro FESTE RIS FRMH—T LR ANE R QR ETS, B0 HR, & 5. A
FEMERB X ER—EHERS .

REZEFIERE PEEFTHEBER LR, BERAZRX—E8, BESREFHE
WIBE EE LA R NENCEMIEEAR; et RSN AR RIEN ARG, WRER L
FRREFIMOEERE b, SR SR R IS MR TS, M AR E W R EF NI RER S RELT
i1 :0

=. MBS

DR e R AR AT P IR B R B ARE S W U T LA AR £ 58 WA BEE. 24815
MRS, EEREEAEN, N AREEEEER T 28R, RETRANBE, REH
REGGHERATE o

1. 53
EEEENRE4 RTREETER . SF23 K EFEFEMKERR, BEHAX
ErhoBRARE ETERE, \THEZIX R CERMNESN . B RN E B E X HRE.
FEER FENEEENSE . BNUREXHEASS., FEETRMXRAERE:
1) What is the passage mainly about?
What is the main idea of the passage?
This article/passage is mainly/chiefly about
The passage/second paragraph mainly tells us that
2) What is the best title of the passage?
The best title of this passage may be
3) What is the main purpose of this passage?
The main purpose of this passage is
The author’s main purpose in writing the passage is to
4) What is the topic of this passage?
With what topic is this passage mainly concerned?

5) Which of the following statements best summarizes the passage?

6) What is the main theme of the passage?

X—EBEERBRRREAEL LRGN E Y THBCENI— B E BB CF R
BHEEMXY AR EBER B HEEXE . HEAR IRV E B REFEMiEe
X EZEEEERE.

BUX KL H & BEMERFHESE —. . . X TFAZHEERNEE X, XERE
BENE - ZAEEFREE. IRH TFEXXENTIONERERE, & TS bist, — i
X ERSE-BXFHFREILEENFENAEE D RBMES A ESERA LM
REBAR. EEB TR RIMMESERNREET LB, RELFEENEPEFRD
JUTXFL . EERENE AU EAS AN KEE ., DG EENER, HAEXEY
FEOANUSHREXTENLSR. XRXFE-RERALGBNET N, 8. XELUF)HEEH
FEkER AR ERSE, BFHRHALRMAECHRA. A BF—EXH AHFEEBEAH
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Passage 1
Americans are more willing to admit to having mental health problems now compared with 40
years ago, according to study published in the July issue of the American Psychologist. The
percentage of Americans who rteport ever feeling like they were about to have a “nervous
breakdown” has increased in the last 40 years, according to the results of three national surveys.
The surveys were designed to measure the past and current views on mental health. The
researchers say peoples’ reason in 1957 for feeling like they are having a nervous breakdown were
most likely to be linked to health problems. But in 1996, the most frequently cited events related
to nervous breakdowns were divorce, marriage problems and separation, and troubles with
members of the opposite sex. The researchers say that to protect people from declining mental
health, mental health policies should be aimed at prevention and focus on building coping skills
and strengthening ties with family and friends.
Question: The passage is mainly about .
A) newly discovered mental problems
B) American marriage
C) Americans’ view on mental health
D) development of mental diseases
B XEFERWEHEREO. XEIXEMNE—ATEE: Americans are more willing to admit to
having menta] health problems now compared with 40 years ago ..., A[LAF H,CEME
BEARRXTOEMRMER. 7 4 METF,3 MERARI0EEHE, RART B A
KTWAEABR . BEMXEFERE, BT HI B AT LAHEBR S, Hfts LA R4 7
RITTREME. ANSRE4E B.O R EEX — &%, B 7 LA & willing to admit A HE AT BERI A S
K. BRAE will MEAHIR RR T SR RSB BRI, Br AR O A T 6E R
XENEEAT. B8 EXE will -ARERR'EE”.“BEE” MARRREKAM.
SCEHE T HASE )35 : The percentage of Americans who report ever feeling like they
were about to have a “nervous breakd'own” has increased in the last 40 years ..., E£EA
X 410 FREXBEZRNACHTOHEGEH. F4E—ANE -5 x8xE
HERAEMZRFEEAN FOEMROBRIBENEL. U OTLEREE.

Passage 2

In 1955, Martin Luther King Jr. , gained national recognition for his nonviolent methods used
in a bus boycott in Montgomery. This peaceful boycott, under Dr. King’s guidance, changed the
law which required Black people to ride in the backs of buses. After his success, Dr. King used
his nonviolent tactics in efforts to change other discriminatory laws.

Dr. King urged Blacks to use nonviolent sit-in, marches, demonstrations, and freedom rides
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in their efforts to gain full freedom and equality. Arrested for breaking discriminatory laws, Dr.
King went to jail dozens of times. He became a symbol around the world for people to protest
peacefully against laws. In recognition of his work for peaceful change, Dr. King received the
1964 Nobel Prize.
Question: What is the best title for the passage?
A) The Effectiveness of Nonviolent Methods
B) Martin Luther King Jr. , Nobel Prize Winner
C) The Need to Change Discriminatory Laws
D) Martin Luther King Jr. , Advocate of Nonviolence
B XEEWERERE D). AFEAXAETFGAKHE R, BEEXENEER Dk H— &
TEARER , SR Tk 2 30 ERRAY 2 A R X AN TN AR HT . AT IR
ERNFBNFRE. EXPHE_BRIARSRTETRE - SWMRAERLFE
VEEER S AEXENTRERIENAR MARTEM. DI PEIDT K
T & URRIKBE . CERYRE—MERE T T 1964 £K1E T 3 /R AR
2 B UL REZEI RN —NETF W ARXENEE. OWBRA T AR EE Ak
BRLEE, XEF-BRYBRE—HERBTE . KX ARE—12EA, &L
BTHERSINE_BXE, ZXHE _BNEZE LN EER, BRARARERE N
FHa . REFRE DM, —BFLT, XLENFATGNBEFS. HEEERH, 5%
3 M who.what, which, where, when how EHEAFHE, XX FEERLAYH,. WER
HE ‘who"X—HE, UL BB SE2XNERTLEE . DTHE - £68
ERNFBREFT —-BERIWEATERNT 2EHRA ARBEX—FEMNBEE.
B D) IS EE, Hit, D) IR S {ERE.

2. 1ERR

EVEERZERMNRP EAEEYE RO LE. —B/FRT B TEERBEXHRAERT
REE. FHEXBEAL AW —M @8, KERERILETUEEN G PR, W
A—F U B R EERXPILFRA B ERNE R HERERATRBEFEXPHE—F LA
#.RE EREE.

BUF AR BN REN R R R I ERTRAYTHNIES REMCS . B
R ESFRENAYNE, B SR%EE LS N . SRR oA R EHE . R,
FEURR , — B EARIEF T R BERE B AP RPIMEME L, B ERENBRE, T
AREFE A O M R S BER %R,

SMOEEE, "RA FEBLRATHESIRE . AUTILAER:

1 FpRHE B EBHE, 10 because, since, as, so, therefore, hence, as a result of,

consequently, in that, ... ; B5. BT 5.5 with Gt AESRAEIESEE.

2) 5XEREEXMERATHNES, nEH .51 8. LR AEVR  EERES. HiEF
R H . for example, for instance, a case in point, the most important, it is important/
necessary/essential that £&,

3) F/AREIT WAL X R MiE1EH . while, whereas, however, but, although, yet, still, in
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fact, conversely, on the contrary 4,

AP T 553 2R 5 ik 54

When an art museun wants a new exhibit, it buys things in finished form and hangs them on
its walls. When a natural history museum wants an exhibit, it often must build it realistically —
from a mass of material and evidence brought together by careful research,

An animal, for example, must first be skinned. Photographs and measurements are used to
determine the animal’s structure in a natural position — fighting, resting, or feeding. Then
muscle forms are built and a plaster shell is made. Finally the skin is pulled over the shell like a
wet glove. This completes the animal subject.

Displaying such things as stone heads, giant trees, and meteorites is basically mechanical.
Most other natural history exhibits present more difficult problems. For instance, how can a
creature be exhibited when it is too small to be seen clearly? In these cases, larger-than-life models
are built. The American Museum of Natural History has models of fleas, houseflies, and a myriad
of other insects enlarged up to seventy-four times, The models show the stages of the insects’
development and the workings of their bodies.

Question 1; Natural history exhibits differ from art exhibits in that they

A) are not displayed to the public

B) often must be constructed

C) are bought

D) do not require research
Question 2; Models are built larger than life to .

A) display animals of many different sizes

B) seem more realistic

C) appear more natural

D) show details that would be hidden in true scale
BT ERECEAHFNRERETENE. F—BUEAD ERTLUNXENFE—B

PR RIS SRR — B —4)1% “When a natural history museum wants an exhibit,
it often must build it realistically ... "t T E R TFENH XLER, HA HH build 5%
B construct AL, IEFE R A B) . T ZBNEAE 5, EFRX PR
AR EEFHERERENE. RERERN D). RIBE=BE/ME =85 Y4HE“For
instance, how can a creature be exhibited when it is too small to be seen clearly?”“In these
cases, larger-than-life models are built, ”, B . XF M FhREEERERERNA
ARAMIEMSCFERAN K. GEXERAWAE FFRIR KT enlarged up to seventy-four
times, B ATAT LUKHEE EMAEER D).

3. e

HEWTER R B R RS S RIEE A5 BT MR eE. ERES, AMNEL
HROREENTEER. RAMEFHIRENATEREIHFEEL . FHiks B HRULE
RUE @RS BRI X ENF TR BN EERREA . EERBEINER, XARLER
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ITEF RS HZE. BTHERAMFEN EEE BN RE L. A Rgd—%
%R Chints) X BB R 4 E B BB AM A T BIBEACEA RIS FX. 48 1
TICAERMBFSUNER L B SRR RN . EED, XN T R EE S
HYEE, AFRSTXMEN A ARREEXEPMES LRANRREH LR INER.

HEWTRE 0[] A)  — A ER & infer.imply, indicate %3], # REKIBAA

1) It can/may be inferred from the passage that

2) It is implied in the passage that

3) The author/writer of the passage implies that

4) From the passage we may learn that

5) It can be concluded from the passage that

6) In the author’s/writer’s opinion,

7) The author thinks that

8) We can learn from the passage that

B 32T 34 30 » SRR T R

Passage 1:

Qurs has become a society of employees. A hundred years or so ago only one out of every five
Americans at work was employed, i. e., worked for somebody else. Today only one out of five is
not employed but working for himself. And when fifty years ago “being employed” meant working
as a factory laborer or as a farmhand, the employee of today is increasingly a middle class person
with a substantial formal education, holding a professional or management job requiring
intellectual and technical skills. Indeed, two things have characterized American society during
these last fifty years: middle-class and upper-class employees have been the fast-growing groups in
our working population — growing so fast that the industrial worker, that oldest child of the
Industrial Revolution, has been losing in numerical importance despite the expansion of industrial
production.

Question; It is implied that fifty years age

A) eighty percent of American working people were employed in factories

B) twenty percent of American intellectuals were employees

C) the percentage of intellectuals in the total work force was almost the same as that of

industrial workers

D) the percentage of intellectuals working as employees was not so large as that of industrial

workers 2
BT RS ERANMERE R XERRENER.: RSN g2+
EREFEHEZET T A BEFHZ - HFHARSFLRERD) R “H e A EP 4
RFHEASEL T ABEHARHEET O R REZ B AR PRS- FH BT
EAAFELRTAD) . REEXBEHHER-". A BIEMER, B RB—EFITH
HROEXFEPERALR D) IEHRE R M the employee of today is increasingly a

middle class person with a substantial formal! education, holding a professional or
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management job requiring intellectual and technical skills, Indeed, two things have
characterized American society during these last fifty years: middle-class and upper-—class
employees have been the fast-growing groups in our working population — growing so fast
that the industrial worker, that oldest child of the Industrial Revolution, has been losing in
numerical importance despite the expansion of industrial production. 435 ¥ 3R {7187 LA #E
Wiihi: I +4EH0 X R AR FAEST R BlmT/ N F ek T

Passage 2

Between ten and midnight the United States is politically leaderless — there is no center of
information anywhere in the nation except in he New York headquarters of the great broadcasting
companies and the two great wire services. No candidate and no party can afford the investment on
election night to match the news — gathering resources of the mass media, and so, as every
citizen sits in his home watching his TV set or listening to his radio, he is the equal of any other in
knowledge. There is nothing that can be done in these hours, for no one can any longer direct the
great strike for America’s power; the polls have closed. Good or bad, whatever the decision,
America will accept the decision — and cut down any man who goes against it, even though for
millions the decision runs contrary to their own votes. The general vote is an expression of
national will, the only substitute for violence and blood. Its decision is to be defended as one
defends civilization itself.
Question 1;: Between ten and midnight the United States is politically leaderless

because
A) the government has resigned
B) the general strike for power has ended
C) the general vote is being held
D) the president has been killed
Question 2: Without the general vote, the author implies
A) there would be a civil war
B) there would be a general strike
C) there would be an election campaign
D) there would be a fierce debate
FBHT: Question 1. A XEERMNFEETH, RERFE R KRB, AIATHERESA
EHE YA, X B EARIEA. FUEREO.
Question 2. B B58 _AIEE th , REERME—FREUE 7 A i 34 M AT AU B &
BT BULETIRENT . IRBA K A TRERSFRE A ENSR.
FIAERA A

HEWRR R R 2N, BREXE T XHMA R &, BRI E 5 g
Fitr. MBI BCOBIENT
D Wit {EE BB PO BE MBS K E:
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2) BLfEHHBEIHMEE. XEERNEIFE YRR WIEHITE
3) YR ECEEFY B EH IR NEEL;
4) BT PMEE TR M7 THE LRI A

. 23k

RAEBBERERE RANRERZ —, ZIEEARESRE.: X3P RENE SR
TR, HERIELE—HERTESL. HEXRTESRBERXE, Wl Ry LaXH—
4. REBEBEREREMAREEZH RAARRELH; FARIERK  HARTERK;: BT
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1) Which of the following statements is true/correct according to the passage?

2) Which of the following statements is NOT true/correct according to the passage?

3) Which of the following statements is NOT mentioned in the passage?

4) The author mentions all the following in the passage Except

5) Which of the following is Not listed in the first paragraph?

6) The author mentioned all of the following except
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Passage 1

Petroleum products, such as gasoline, home heating oil, residual fuel oil, and lubrication
oils, come from one source — crude oil found below the earth’s surface, as well as under large
bodies of water, from a few hundred feet below the surface to as deep as 25,000 feet into the
earth’s interior. Sometimes crude oil is secured by drilling a hole through the earth, but more dry
holes are drilled than those producing oil, Pressure at the source or pumping forces crude oil to the
surface.

Crude oil wells flow at varying rates, from ten to thousands of barrels per hour, Petroleum
products are always measured in 42-gallon barrels.

Petroleum products vary greatly in physical appearance: thin, thick, transparent or opaque,
but regardless, their chemical composition is made up of only two elements: carbon and hydrogen,
which form compounds called hydrocarbons. Other chemical elements found in union with the
hydrocarbons are few and are classified as impurities. Trace elements are also found, but these are
of such minute quantities that they are disregarded. The combination of carbon and hydrogen
forms many thousands of compounds which are possible because of the various positions and
joinings of these two atoms in the hydrocarbon molecule.

The various petroleum products are refined from the crude oil by heating and condensing the
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vapors. These products are the so-called light oils, such as gasoline, kerosene, and distillate oil.
The residue remaining after the light oils are distilled is known as heavy or residual fuel oil and is
used mostly for burning under boilers. Additional complicated refining processes rearrange the
chemical structure of the hydrocarbons to produce other products, some of which are used to
upgrade and increase the octane rating of various types of gasolines.
Question 1; According to the first paragraph, which of the following is NOT true?
A) Crude oil is found below land and water.
B) Crude oil is always found a few hundred feet below the surface.
C) Pumping and pressure force crude oil to the surface,
D) A variety of petroleum products are obtained from crude oil.
Question 2: According to the passage, which of the following is TRUE?
A) The various petroleum products are produced by filtration,
B) Heating and condensation produce the various products.
C) Chemical separation is used to produce the various products,
D) Mechanical means such as the centrifuge are used to produce the various products.
Question 3: Which of the following is NOT listed as a light 0il?
A) Distillate oil B) Gasoline
C) Lubrication oil D) Kerosene
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Passage 2
We are still in control, but the capacities of computers are increasing at a fantastic rate, while

raw human intelligence is changing slowly, if at all. Computer power has increased ten times
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every eight years since 1946, In the 1990s, when the sixth generation appears, the reasoning
power of an intelligence built out of silicon will begin to match that of the human brain.

That does not mean the evolution of intelligence has ended on the earth. Judging by the past,
we can expect that a new species will arise out of man, surpassing his achievements as he has
surpassed those of his. Only a carbon chemistry enthusiast would assume that the new species
must be man’s flesh-and-blood descendants. The new kind of intelligent life is more likely to be
made of silicon.

Question; According to the passage, which of the following statements is TRUE?

A) Future man will be made of silicon instead of flesh and blood.

B) Some day it will be difficult to tell a computer from a man.

C) The reasoning power of computers has already surpassed that of man.

D) Future intelligent life may not necessarily be made of organic matter.
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1) ... probably means

2) the word ... in paragraph one/two... probably means

3) the word ... is closest in meaning to

4) ... in the second sentence of the last paragraph could be best replaced by

WEEESNMFEREREACEZ2FMNMIRE L, L HE—HiECEIERN %
AL AT RE S A BB RIABRIECIZ P R LT, MBEL L. X—ENET-RBRSHEL
TR S, T SR R LI LT SCF M AR M A X SR AR LA BT . HmT
KR

The word “television”, derived from its Creek (tele; distant) and Latin (visio; sight) roots,
can literally be interpreted as sight from a distance. Very simply put, it works in this way:
through a sophisticated system of electronics, television provides the capability of converting an
image (focused on a special photo-conductive plate within a camera) into electronic impulses,

which can be sent through a wire or cable, These impulses, when fed into a receiver (television



